Soustraction Avec Un Zeéro (I)

80
- 47

40
- 15

30
- 30

80
-61

Calculez la différence.

80

-74

90

- 65

60
-42

70

-40

10

-10

30
- 28

60

40
- 32

20

60
- 14

80
-18

70

30
- 20

90
- 41

20

70
- 45

70
- 51

60

30
-17
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Soustraction Avec Un Zéro (I) Réponses

Calculez la différence.

10 10 30 40
-4 -7 - 28 -32
6 3 2 8
90 10 60 20
-8 -9 -5 -1
82 1 55 19
10 80 60 80
-4 -74 -14 -18
6 6 46 62
80 90 70 30
-47 - 65 -2 - 20
33 25 68 10
40 60 90 20
- 15 -42 -41 -3
25 18 49 17
30 70 70 70
- 30 -40 - 45 -51
0 30 25 19
80 10 60 30
-61 -10 -5 -17
19 0 55 13
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